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. n(Hzoz)t = C]_V]_— X(t) =2.7- X(t)

= n(l)= ¢V, — 2X(t) = 5.4 — 2X(t)

= n(H;0).= 2X(t)

= n(H)= csVs - 2X(t) = 6 — 2X(t)
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t(min) VE n(l,) x(t) n(H.0;) | n(H*) n(l") n(H;0) | dX/dt Vv 1/Vv v

0 0 0 0 2.7 6 5.4 0 - 0.106 |9.433962 -

2 1.2 0.6 0.6 2.1 4.8 4.2 1.2 0.45 0.106 |9.433962 |4.245283
6 2.7 1.35 1.35 1.35 3.3 2.7 2.7 0.2875 0.106 |9.433962|2.712264
10 3.5 1.75 1.75 0.95 2.5 1.9 3.5 0.166667| 0.106 [9.433962|1.572327
15 4.2 2.1 2.1 0.6 1.8 1.2 4.2 0.12 0.106 |9.433962|1.132075
20 4.7 2.35 2.35 0.35 1.3 0.7 4.7 0.06 0.106 |9.433962 | 0.566038
30 5.1 2.55 2.55 0.15 0.9 0.3 5.1 0.03 0.106 |9.433962|0.283019
40 5.3 2.65 2.65 0.05 0.7 0.1 5.3 0.015 0.106 |9.433962|0.141509
50 5.4 2.7 2.7 0 0.6 0 5.4 0.005 0.106 |9.433962| 0.04717
60 5.4 2.7 2.7 0 0.6 0 5.4 0 0.106 |9.433962 0
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Xmax

* X(t)=—— ap(t)

" n(Mg):=— — X(t) = 0.823 — X(¢)

= n(H;0"),=c.V — 2X(t) = 25 — 2X(t)
= n(Mg;') =X(t)

" n(Hy):=X(t)

= n(H,0).=2X(t)
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t(s) X(t) n(Mg) | n(H:0*) | n(Mg*) n(H,) n(H:0) Vv 1/v dX/dt v p(hPa) | Ap(t)
0 0 0.823 25 0 0 0 0.05 20 - - 1013 0
30 0.12345 | 0.69955 | 24.7531 | 0.12345 | 0.12345 | 0.2469 0.05 20 [0.003944 |0.078871| 1025 12
60 |0.236613|0.586388 |24.52678 |0.236613 |0.236613 | 0.473225 0.05 20 10.003944|0.078871| 1036 23
90 |0.360063|0.462938 |24.27988 | 0.360063 | 0.360063 | 0.720125 0.05 20 [0.004115| 0.0823 1048 35
120 |0.483513|0.339488|24.03298 |0.483513|0.483513 | 0.967025 0.05 20 [0.005144|0.102875| 1060 47
150 |0.668688|0.154313|23.66263 | 0.668688 | 0.668688 | 1.337375 0.05 20 [0.003258 | 0.065154 | 1078 65
180 |0.678975|0.144025|23.64205|0.678975|0.678975| 1.35795 0.05 20 [0.000514 |0.010288 | 1079 66
210 | 0.69955 | 0.12345 | 23.6009 | 0.69955 | 0.69955 | 1.3991 0.05 20 [0.001372|0.027433 | 1081 68
240 |0.761275|0.061725|23.47745|0.761275 | 0.761275 | 1.52255 0.05 20 [0.001715|0.034292 | 1087 74
270 [0.802425|0.020575|23.39515(0.802425 | 0.802425 | 1.60485 0.05 20 [0.001029 |0.020575| 1091 78
300 0.823 0 23.354 0.823 0.823 1.646 0.05 20 [0.000343 |0.006858 | 1093 80
330 0.823 0 23.354 0.823 0.823 1.646 0.05 20 0 0 1093 80
Xmax 0.823 Apmax 80
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